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Optimized cutting of steel angles using EXCEL

PRODUCT DATA ID
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Can someone suggest how to determine optimum cutting schedule from a give stocks of angle sections using

excel?
Stock data

(100*100*7 is steel angle section (L shape) with both flange having 100mm width and 7mm thickness.)
100*100*7 ---- 5000 mm 150 gty cost 1000 $/MT

100*100*7 ---- 6500 mm 25 gty cost 1050 $/MT
90*90*6 --- 6500 mm 100 qty cost 1020 $/MT
90*90*6 ---- 5500 mm 120 gty cost 1000 $/MT

Requirement

100*100*7 2000 mm 20 gty
100*100*7 2200 mm 25 qty
100*100*7 3000 mm 50 gty
90*90*6 2000 mm 75 qty

How optimize cutting schedule so that wastage is minimize.

During cutting if remaining Pieces length is less then 500 mm then it is a wastage. If it is more than 500 mm then

we can consider that same pieces will be utilized for other project. So minimum wastage is the goal.
Also please note that cost is defined as $/ton.
There are ready made programs available but | want to develop it on Excel.
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